निविदा दस्तावेज़ /TENDER DOCUMENT

श्यामा प्रसाद मुखर्जी पत्तन, कोलकाता

Shyama Prasad Mookerjee Port, Kolkata सिविल इंजीनियरिंग विभाग/ Civil Engineering Department अधीक्षण अभियंता , साउथ का कार्यालय Office of the Superintending Engineer (South) 51,सि. जी. आर. रोड , कोलकाता -700043 Tele – 033 71003352

I. जी. आर. रोड , कोलकाता -700043_Tele – 033 7100 E-mail id: jb.boipai@kolkataporttrust.gov.in

E-Tender is invited from reliable, bonafide, resourceful, experienced and reputed firms registered with SMPK with required experience as per Prequalification criteria stipulated in the Tender Document for "Miscellaneous building repair works and petty sanitary & plumbing works as may be necessary at Chetla Residential quarters complex for a period of 1 (One) year from the date of placement of work order." as per the attached Bill of Quantities. The Bid Document may be seen from kopt.enivida.in Portal. Corrigenda or clarifications, if any, shall be hosted on the above mentioned website only. Bidders will have to participate in bidding process through website https://eprocure.gov.in/eprocure/app only.

कार्य का नाम:-": – "चेतला आवासीय क्वार्टर परिसर में विविध भवन मरम्मत कार्य और छोटे-मोटे सैनिटरी और प्लंबिंग कार्य आवश्यक आवश्यक कार्य आदेश देने की तिथि से एक वर्ष की अविध के लिए ई निविदा

SCHEDULE OF TENDER (SOT)

a. निविदा संख्या/TENDER NO.	CE/South/Chetla Quarters/NIT/22-23/9/258 Dated 02.02.2023
L 00	
b. निविदा का तरीका/MODE OF TENDER	e-Procurement System
	(Online Part I – Techno-Commercial Bid and
	Part II – Price Bid through https://kopt.enivida.in)
	The intending bidders are required to submit their offer
	electronically through e-tendering portal. No physical tender is
	acceptable by Shyama Prasad Mookerjee Port, Kolkata.
c. ई-निविदा संख्या /E-Tender No.	
~	
d. पार्टियों को डाउनलोड करने के लिए उपलब्ध	From 02.02.2023 to 22.02.2023. (Upto 15.00 hours)
एनआई टी की तिथि/ Date of NIT available to	
parties to download	
e. प्री बीड मीटिंग की तिथि और समय/ Pre-Bid	There will be no Pre bid meeting
Meeting date & Time	
f. प्री बीड मीटिंग समापन तिथि और समय/ Pre	N/A
-Bid Meeting closing date & Time	
g. i) कार्य का अनुमानित लागत/Estimated Cost	
Of Work	Rs. 894126.80
	(Rupees Eight lakhs ninety four thousand one hundred twenty six
	and paise eighty only)
ii) अग्रिमधन जमा राशि /Earnest Money	
Deposit	The intending bidders should submit Earnest Money of Rs
SP 33.3	17885.00 (Rupees Seventeen thousand eight hundred
	eighty five only to KoPT as per NIT.)
	⊌ 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

iii) निविदा दस्तावेज की कीमत /Bid Document fee	The intending bidders should submit the tender cost of Rs.590/- (Rupees Five hundred fifty four) only (non-refundable) separately to KoPT as per NIT, otherwise their offer will be summarily rejected.(including 18% GST) Annexure –I)
h. अग्रिमधन तथा निविदा दस्तावेज की कीमत को जमा करने की अंतिम तारीख/Last date of submission of EMD & Bid Document fee at Syama Prasad Mookerjee Port, Kolkata	22.02.2023 upto 15.00 Hrs.
i. ई-निविदा को ऑनलाइन जमा करने की प्रारम्भिक तिथि/ Date of Starting of e-Tender for submission of on line Techno-Commercial Bid and price Bid at CPP Portal https://eprocure.gov.in/eprocure/app	02.02.2023 (From 15.00 hours onwards)
j. ई-निविदा को ऑनलाइन जमा करने की अंतिम तिथि / Date of closing of online e-tender for submission of Techno-Commercial Bid & Price Bid.	22.02.2023 Up to 3:00 P.M.)
k. ई-निविदा को खुलने की तिथि और समय/Date & time of opening of Part-I (i.e. Techno-Commercial Bid) Part-II Price Bid. Date of opening of Part II i.e. price bid shall be informed separately	23.02.2023 (After 3:00 P.M.)

List of Annexures

Important Instructions for E- Tender :- Annexure - A
Commercial Terms & Conditions :- Annexure - B
Techno Commercial Bid (Cover-I) :- Annexure - C
List of Scanned Documents required to be uploaded :- Annexure - D
Price Bid (Cover-II) :- Annexure - E
General Conditions of Contract :- Annexure - F

Annexure-A

2.0 SMP, Kolkata, eNivida Special Instruction to Bidders

e-Procurement is the complete process of e-Tendering from publishing of tenders online, inviting online bids , evaluation and award of contract using the system. You may keep a watch of the tenders floated under https://kopt.enivida.in_The link of e-procurement portal is also given on our official portal i.e_www. https://www.kolkataporttrust.gov.in/under TENDER TAB.

These will invite for online Bids. Bidder Enrolment can be done using **"Online Bidder Enrolment".**

The instructions given below are meant to assist the bidders in registering on the e-tender Portal, and submitting their bid online on the e-tendering portal as per uploaded bid.

More information useful for submitting online bids on the e Nivida Portal may be obtained

at: https://kopt.enivida.in

GUIDELINES FOR REGISTRATION:

- 1. Bidders are required to enrol on the e-Procurement Portal (
 https://kopt.enivida.in/bidderRegistration/newRegistration) or click on the link
 "Bidder Enrolment" available on the home page of e-tender Portal by paying the
 Registration fee of Rs.2000/-+Applicable GST.
- 2. As part of the enrolment process, the bidders will be required to choose a unique username and assign a password for their accounts.
- 3. Bidders are advised to register their valid email address and mobile numbers as part of the registration process. These would be used for any communication with the bidders.
- 4. Upon enrolment, the bidders will be required to register their valid Digital Signature Certificate (Only Class III Certificates with signing + encryption key usage) issued by any Certifying Authority recognized by CCA India (e.g. Capricorn/ nCode / eMudhra etc.), with their profile.
- 5. Only valid DSC should be registered by a bidder. Please note that the bidders are responsible to ensure that they do not lend their DSC's to others which may lead to misuse.
- 6. Bidder then logs in to the site through the secured log-in by entering their user ID /password and the password of the DSC / e-Token.
- 7. The scanned copies of all original documents should be uploaded in pdf format on e-tender portal.
- 8. After completion of registration payment, bidders need to send their acknowledgement copy on our help desk mail id **enividahelpdesk@gmail.com**/for activation of account.

SEARCHING FOR TENDER DOCUMENTS

- 1. There are various search options built in the e-tender Portal, to facilitate bidders to search active tenders by several parameters.
- 2. Once the bidders have selected the tenders they are interested in, you can pay the Tender fee and processing fee (NOT REFUNDABLE) by net-banking / Debit / Credit card then you may download the required documents / tender schedules, Bid documents etc. Once you pay both fee tenders will be moved to the respective 'requested' Tab. This would enable the e- tender Portal to intimate the bidders through SMS / e-mail in case there is any corrigendum issued to the tender document.

PREPARATION OF BIDS

- 1. Bidder should take into account any corrigendum published on the tender document before submitting their bids.
- 2. Please go through the tender advertisement and the tender document carefully to understand the documents required to be submitted as part of the bid.
- 3. Bidder, in advance, should get ready the bid documents to be submitted as indicated in the tender document / schedule and generally, they can be in PDF formats. Bid Original documents may be scanned with 100 dpi with Colour option which helps in reducing size of the scanned document.
- 4. To avoid the time and effort required in uploading the same set of standard documents which are required to be submitted as a part of every bid, a provision of uploading such standard documents (e.g. PAN card copy, GST, Annual reports, auditor certificates etc.) has been provided to the bidders. Bidders can use "My Documents" available to them to upload such documents.
- 5. These documents may be directly submitted from the "My Documents" area while submitting a bid, and need not be uploaded again and again. This will lead to a reduction in the time required for bid submission process. Already uploaded documents in this section will be displayed. Click "New" to upload new documents.

SUBMISSION OF BIDS

- 1. Bidder should log into the website well in advance for the submission of the bid so that it gets uploaded well in time i.e. on or before the bid submission time. Bidder will be responsible for any delay due to other issues.
- 2. The bidder has to digitally sign and upload the required bid documents one by one as indicated in the tender document as a token of acceptance of the terms and conditions laid down by KOPT.
- 3. Bidder has to select the payment option as "e-payment" to pay the tender fee / EMD as applicable and enter details of the instrument.

- 4. In case of BG bidder should prepare the BG as per the instructions specified in the tender document. The BG in original should be posted/couriered/given in person to the concerned official before the Online Opening of Financial Bid. In case of non-receipt of BG amount in original by the said time, the uploaded bid will be summarily rejected.
- 5. Bidders are requested to note that they should necessarily submit their financial bids in the format provided and no other format is acceptable. If the price bid has been given as a standard BOQ format with the tender document, then the same is to be downloaded and to be filled by all the bidders. Bidders are required to download the BOQ file, open it and complete the white Coloured (unprotected) cells with their respective financial quotes and other details (such as name of the bidder). No other cells should be changed. Once the details have been completed, the bidder should save it and submit it online, without changing the filename. If the BOQ file is found to be modified by the bidder, the bid will be rejected.
- 6. The server time (which is displayed on the bidders' dashboard) will be considered as the standard time for referencing the deadlines for submission of the bids by the bidders, opening of bids etc. The bidders should follow this time during bid submission
- 7. The uploaded tender documents become readable only after the tender opening by the authorized bid openers.
- 8. Upon the successful and timely submission of bid click "Complete" (i.e. after Clicking "Submit" in the portal), the portal will give a successful Tender submission acknowledgement & a bid summary will be displayed with the unique id and date & time of submission of the bid with all other relevant details.
- 9. The tender summary has to be printed and kept as an acknowledgement of the submission of the tender. This acknowledgement may be used as an entry pass for any bid opening meetings.

For any clarification in using e-Nivida Portal:

- 1. Any queries relating to the tender document and the terms and conditions contained therein should be addressed to the Tender Inviting Authority for a tender or the relevant contact person indicated in the tender.
- 2. Any queries relating to the process of online bid submission or queries relating to etender Portal in general may be directed to the Helpdesk Support.

Please feel free to contact eNivida Helpdesk (as given below) for any query related to etendering.

Phone No. 011-49606060/8448288985/9355030620/8448288981

Mail id: - enividahelpdesk@gmail.com/ ewizardkumar@gmail.com

1	All entries in the tender should be entered in online Technical & Commercial Formats without any ambiguity.
2	E-tender cannot be accessed after the due date and time mentioned in NIT.
3	KoPT reserves the right to cancel or reject or accept or withdraw or extend the tender in full or part as the case may be without assigning any reason thereof.
4	Any order resulting from this tender shall be governed by the terms and conditions mentioned therein.
5	No deviation to the technical and commercial terms & conditions are allowed.
6	The bidders must upload all the documents required as per terms of tender. Any other document uploaded which is not required as per the terms of the tender shall not be considered.
7	The bid will be evaluated based on the filled-in technical & commercial formats.
8	Bidder has fully read and understood the entire Tender Document, GCC, Corrigendum and Addenda, if any downloaded from under the instant e-tender and no other source, and will comply to the said document, GCC, Corrigendum and Addenda". A declaration in this regard is to be made by the bidder.
9	(A) Tender will be opened electronically on specified date and time as mentioned in the NIT.Bidder's can witness electronic opening of Bid.(B) Necessary addendum/corrigendum (if any) of the tender would only be hoisted in the e-CPP Portal

Annexure -B

श्यामा प्रसाद मुखर्जी पत्तन, कोलकाता

Syama Prasad Mookerjee Port, Kolkata सिविल इंजीनियरिंग विभाग/ Civil Engineering Department अधीक्षण अभियंता , साउथ का कार्यालय/ Office of the Superintending Engineer (South) 51,सि. जी. आर. रोड , कोलकाता -700043_Tele – 033 -71003352 E-mail id:jb.boipai@kolkataporttrust.gov.in

Commercial Terms & Conditions

SL. NO.	TERMS

- 1. Mere participation in e-tender will not mean that a particular bidder will be automatically considered qualified and their bids will be entertained. Such qualification will be reviewed at the time of evaluation of bids also.
- 2. Copy of valid NSIC Certificate for MSEs along with DIC's (DISTRICT INDUSTRIES CENTRE) Certificate has to be submitted along with the bid.
- EARNEST MONEY: As Per NIT
- 4. E-Tenderers submitted without requisite Earnest Money are liable to be rejected excepting in case of Micro & Small Enterprises (MSEs) registered with NSIC (under single point registration scheme) for items for which the tender is invited.
- 5. Scope of work: As per tender document.
- 6. The Terms and Conditions of E-Tender shall be read in conjunction with the General Conditions of Contract, Specifications, Bill of Quantities and other documents forming part of this Contract wherever the Contract so requires.
- 7. The several documents forming the Contract shall be taken, as mutually explanatory to one another and in case of any discrepancies; the Bill of Quantities shall prevail over the Specifications and the Terms and Conditions over the General Conditions of Contract of SMPK, In case of any dispute, question or difference either during the execution of the Contract or any other time as to any matter or thing connected with or arising out of this Contract, the decision of the Chief Engineer , Syama Prasad Mookerjee Port, Kolkata thereon shall be final and binding upon all parties.
- 8. The Contract will include the Client's Bid Documents with the General Conditions of Contract and the Bidder's Offer as finally accepted by the Client, together with Addenda, if there be any. Trustees' General Conditions of contract is the integral part of the tender / contract.
- 9. The Trustees are not bound to accept the lowest or any Tender and reserve the right to accept a tender in full or in part and / or reject a tender in full or in part without assigning any reason thereof.

- 10. The contract shall be governed by all relevant Indian Acts applicable only within the jurisdiction of the High Court at Calcutta.
- 11. Intending bidders must take into account any cost or expense incurred by them in connection with the preparation and submission of their bids or for any other expenses incurred in connection with such bidding.
- 12. Bidders are advised to visit the site of work prior to submission of their bid. Bidder shall get himself thoroughly familiarized with the site conditions, existing road facilities for carrying materials etc. before submission of the e-tender. He may contact the Chief Engineer/Superintending Engineer (South) or his authorized representative at his office at 51 Circular Garden Reach Road, Kolkata 700043 in this regard. Non compliance of the same will in no way relieve the successful bidder of any of his obligations in performing the work in accordance with this Bid Document within the quoted price.

13. VALIDITY:

The tender shall remain open for acceptance for a period of **04 months** from the date of opening of techno-commercial bid.

If before expiry of this validity period, the Bidder amends his quoted rates or tender, making them unacceptable to the Trustees and / or withdraws his tender, the Earnest Money deposited shall be liable to forfeiture at the option of the Trustees / sanctioning Authority.

14. NON- RESPONSIVE BIDDER:-

The offer/tender shall be treated as non-responsive, if it:

- is not accompanied by requisite earnest money/ valid NSIC Registration Certificate /MSME Registration Certificate.
- 2. is not accompanied by requisite tender paper cost/ or valid NSIC/MSME Registration Certificate
- 3. validity of the offer is less than tender stipulation,
- 4. It does not meet the Qualification Criteria as stipulated in the NIT.
- 5. The bidder submits conditional offer / impose own terms and conditions / does not accept tender conditions completely/offer or tender if submitted with any deviation from the tender terms & conditions.
- 6. is not accompanied with the photo copy of ESI, EPF & GST Registration,
- 7. if the tender is conditional.
- 8. if all the documents required as per NIT are not uploaded.

In addition to above, a bidder may be disqualified if –

- a) The bidder provides misleading or false information in the statements and documents submitted.
- b) Record of unsatisfactory performance during the last seven years, such as abandoning of work or rescinding of contract for which the reasons are attributable to the non-performance of the contractor or inordinate delays in completion or financial bankruptcy etc.

The decision of Kolkata Port Trust in this regard shall be final and binding on the Bidder.

- 15. EARNEST MONEY AND SECURITY DEPOSIT: As per tender Document
- 16. Performance Guarantee: Not Applicable
- 17. In the event of the successful bidder failing to execute the order within the stipulated

delivery period without sufficient reasons acceptable to the Trustees, the Security Deposit may be forfeited and the order be cancelled at the option of the Trustees' apart from other actions.

- 18. PRICES: As per BOQ given in the tender document.
- 19. The bidder shall quote his price as per the Bill of Quantities in the Price bid.
- 20. The Bidder shall state clearly his quoted rates both in figure & word .
- 21. Orders may be placed in full/part to the lowest bidder.
- 22. Prices to be quoted should remain firm over the contract period.
- 23. All taxes & duties are deemed to be included in the quoted rate except **GST** as applicable.
- 24. EVALUATION CRITERIA: As per relevant clause of Tender document.
- 25. PAYMENT: As per Tender document.
- 26. Location: As per Tender document.
- 27. Time of Completion: As per Tender document.
- 28. Work is to be carried out as per terms & condition of the contract document.

29. JURISDICTION OF COURT:

The contract shall be governed by all relevant Indian Acts applicable within the jurisdiction of Kolkata.

30. PERSONAL PROTECTIVE EQUIPMENT (PPE):

Contractor and their workmen including driver & helper must use PPE i.e. safety helmet etc. at the time of work inside the dock premises. For safety measure Cl. No.25, page-23 may be referred too.

- 31. Compensation (Liquidated Damages) against failure to complete the work within the stipulated time as per tender condition.
- 32. Price adjustment clause: As per Tender document.
- 33. Technical capacity: As stipulated in Tender document.
- 34. Financial capacity: As stipulated in Tender document.
- 35. <u>DOCK PERMITS</u>: As per tender document.

Besids the above conditions all other conditions as stated in in NIT, BOQ, Special Conditions of Contract, Instruction to the tenderers, G.C.C. shall have to be agreed by the Bidders

Annexure -C

टेकनों कोमर्सियल बीड / Techno Commercial Bid

"चेतला आवासीय क्वार्टर परिसर में विविध भवन मरम्मत कार्य और छोटे-मोटे सैनिटरी और प्लंबिंग कार्य आवश्यक आवश्यक कार्य आदेश देने की तिथि से एक वर्ष की अवधि के लिए ई निविदा "।

E-Tender for: "Miscellaneous building repair works and petty sanitary & plumbing works as may be necessary at Chetla Residential quarters complex for a period of 1 (One) year from the date of placement of work order

NOTICE INVITING TENDER

PRE-QUALIFICATION CRITERIA FOR BIDDERS: -

- **1.** The intending bidder must have successfully completed similar works like **miscellaneous works of buildings** during the last 7 (seven) years ending last day of month previous to the one in which applications are invited and the experience should be either of the following:
- Either (i) 03 (Three) completed works each costing not less than 40 % of the estimated amount put to tender.
- **Or (ii) 02 (Two)** completed works each costing not less than **50** % of the estimated amount put to tender.
- Or (iii) 01 (One) completed work costing not less than 80% of the estimated amount put to tender.
- 2. The Average Annual Financial Turnover of the bidding firm during the last three years, ending on 31-03-2022, should be at least 30% of the estimated amount put to tender.
- **3.** Work experience as a sub contractor **shall not be** considered as the requisite qualification.

OTHER INSTRUCTIONS:-

E-Tenderers are invited on one *Cover* basis from resourceful, experienced and bonafide reputed bidders registered with SPM K (Kolkata Port Trust) with sound technical and financial capabilities for the above mentioned work at Kolkata Port Trust.

Details of the Tender & Tender Documents are available in web site of RailTel and have to participate in bidding process through their website through https://kopt.enivida.in only.

Notification for issuance of any Addendum / Corrigendum to the tender document will be given only through CPP Portal website and the bidders are requested to check for the same at the website prior to submission of their offers.

E-Tenderers are not permitted to alter/change/delete/modify any clause of the tender document down loaded from the website. If any deviation / discrepancy is found after submission of tender, the submitted offer will be summarily rejected.

Bidders shall submit the Bid Document as stipulated in the "Instructions To Bidders" of the e-tender document. Trustees reserve the right to verify the submitted copies of documents / credentials with the original documents.

E-Tenderers will be received through RailTel Portal up to 15:00 hrs. on the last date of submission 21.02.2023 and opening of tender specified above.

Part -I (Techno commercial part) of the e-Tender will be opened shortly after 3.00 p.m. on the stipulated date.

Part -II (Price Part) of only technically & commercially qualified bidders will be opened at a same date under due intimation to all concerned.

In case of unscheduled Holiday / Bandh on the date of opening of E-Tender, the same will be opened on the next working day.

The tenderer shall submit certified copy of the Certificates of GST Registration No. and also declare their Permanent Income Tax Account No. in the last page of the B.O.Q

EMD & cost of Tender Document to be submitted through Bank Draft/Banker's Cheque/Demand Draft etc. in favour of Kolkata Port Trust, payable at Kolkata, details to be uploaded along with the tender documents.

The intending tenderer should have valid registration against ESI & EPF issued by the competent authority, Copy of which is to be submitted along with the tender, failing which their offer will be considered as non responsive. **Once a Bid is submitted, it will not be allowed to be revised.**

SMPK reserves the right to reject any or all offers or to accept the offer in whole or in part without assigning any reason whatsoever thereof. The tenderer shall include in their prices sums payable as Taxes Particularly, Royalty or otherwise to the Government or Public Bodies or Individual and such taxes shall not be an extra charge payable by the Trustees except **GST** which will be paid extra'.

SITUATION.

The tenderer shall submit certified copy of the Certificates of Registration No. and also declare their Permanent Income Tax Account No. in the last page of the B.O.Q

EMD & cost of Tender Document to be submitted through Bank Draft/Banker's Cheque/Demand Draft etc. in favour of Kolkata Port Trust, payable at Kolkata, and need to be physically submitted at Sr. Ex. Engineer (South) office details to be uploaded along with the tender documents. Once a Bid is submitted, it will not be allowed to be revised.

INSTRUCTIONS TO BIDDER

1.0 GENERAL

The work as described in the tender shall be executed at site of South section and in accordance with the attached General Conditions of Contract, Special Conditions of Contract, Technical Specifications, Drawings (if any) & detailed Bill of Quantities. Location of the place of work should be inspected at the office of the **Superintending Engineer (South)** on any working day before quoting for the tender with prior appointment.

- 2.0 After opening of the Tender earnest money and cost of tender paper are to be physically deposited at the office of the Superintending Engineer (South).51 C.G.R.Road Kolkata 700043 by vender's/contractor through Bank Draft/Banker's cheque / Demand Draft/Pay order etc in favour of Syama Prasad Mookerjee Port, Kolkata payable at Kolkata
- **2.1** Details of cost of e-tender paper remitted should be entered by the participating vendor/contractor in the space provided in the e-tender as indicated hereunder:

a) Name of remitting vendor/contractor :b) Tender No. :c) Amount remitted :d) Date of remittance :

- e) Pay Order/Bank Draft No.
- **2.2** Details of Earnest money remitted should be entered by the participating vendor/contractor in the space provided in the e-tender as indicated hereunder:

a) Name of remitting vendor/contractor:

b) Tender No. :

c) Amount remitted :

d) Date of remittance :

e) Pay Order/Bank Draft No. :

Tender submitted without requisite Earnest Money and cost of tender paper will be liable for rejection.

3.0 MODE OF SUBMISSION OF BID:

- 3.1 All bidders must submit their offers through e- tendering in accordance with the terms and conditions set out in the bid documents and no deviation will be accepted.
- 3.2 A bid shall contain the following which are to be uploaded: -
- a) A signed declaration by the Tenderer that
 - i. The Bidding Firm has not been debarred / de-listed by any Govt / Quasi Govt. / Public Sector undertaking in India.
 - ii. The proprietor/partner(s)/authorized signatory of the bidding firm (in the case of proprietorship firm /partnership firm /limited company, as the case may be) is/are not associated with any other firm bidding for the same work.
- c) In Volume-I, the un-priced "Abstract Form of Tender" & "Form of Tender" (without price quoted) shall not only be signed and stamped by the Bidder, but must also be duly witnessed.
- d) A list of works which are in hand at the time of submitting the offer as per the enclosed proforma titled 'Concurrent Commitments of The Bidder' vide 'Annexure-II' in Volume-I of the tender document.
- e) Even though the bidders meet the above qualifying criteria, they are subject to be disqualified if they have made misleading or false representations in the forms, statements and attachments submitted in proof of the qualification requirements and their **EMD will be forfeited for such action**.

f) Scanned copy of the following documents to be uploaded:-

- (i) GST registration certificate.
- (ii) Valid Trade Licence
- (iii) Valid Professional Tax Clearance Certificate / Up to date tax payment challan.
- (iv) Proof of possessing valid Employees' Provident Fund (EPF) Account. EPF Registration Certificate.
- (v) Proof of being registered with Employees' State Insurance Corporation (ESIC), ESI Registration Certificate.
- (vi) Details of the firm as per Schedule-O (in Volume-I) of the tender document.
- (vii) Credentials in the form of copies of Letters of Award of Works along with corresponding Completion Certificates from owners to justify that the intending bidder satisfies the earlier mentioned pre-qualification criteria including the Schedule-T.

- (viii) Last three years balance sheet and profit & loss account in support of Annual Financial turnover (i.e. 2019-2020, 2020-2021 and 2021-2022) and the same should be audited as per relevant norms wherever required.
- (ix) Addendum/Corrigendum / Notice / Extension Notice issued and drawings (if any) duly signed by the Bidder under office seal.
- (x) Certified copies of PAN Card.
- (xi) Original T.R. relating to Permanent Earnest Money Deposit.
- (xii) Duly signed full Techno Commercial Part(Part-I) and Price Bid(Part-II)
- (xiii) Bank Draft/ Pay order etc. regarding EMD & Cost of Tender documents
- (xiv) Last page of "Bill of Quantities" & "other form of Tender" duly filled up (without price quoted) shall be duly signed stamped by the bider.
- N.B.1. The bidder will have to produce the original documents or any additional documents, if asked for, to satisfy the Authorities.
- N.B.2. Even though the bidders meet the above qualifying criteria, they are subject to be disqualified if they have made misleading or false representations in the forms, statements and attachments submitted in proof of the qualification requirements and their EMD will be forfeited for such action.
- 3.3 All the bidders should submit the e-tender in accordance with the Mode of submission of Bid as aforesaid.

4.0 ACCEPTANCE OF TENDER:-

- 4.1 Syama Prasad Mookerjee, Kolkata reserves the right to accept / reject any / all offer(s) without assigning any reason thereof and also reserve the right to accept the tender **in part or as a whole**.
- 4.2 Any attempt to exercise undue influence in the matter of acceptance of Tender is strictly prohibited and any Tenderer who resorts to this will render his tender liable to rejection.

5.0 MISCELLANEOUS:

- (i) Bidder shall submit his offer for complete scope of work, strictly in accordance with the tender documents. Any deviation from the tender documents and / or any incomplete tender shall not be considered.
- (ii) The bidder shall not impose his own terms & conditions in his offer or quote his rates based on his own terms and conditions, such E-Tenderers are liable to rejection at the option of the Trustees without further reference to the bidder.
- (iii) All materials shall have to be procured by the successful Bidder and shall be of the best and approved quality conforming to relevant specifications. The successful Bidder shall also arrange for the supply of all labour, tools and plants as stipulated in the Special Conditions of Contract, required for efficient execution of the work.
- (iv) All measuring units are in Metric System and rates and sums in the tender are in Indian Currency. The language used throughout shall be in English.
- (v) The Tender Documents with all the enclosures, appendices, Abstract Form of Tender and Form of Tender shall be required to be complete, duly filled in and signed and uploaded.
- (vi) Enlisted/registered contractor of KoPT will get the benefit of exemption of deposition of Earnest Money upto the prescribed limit. They are to upload the scan copy of the original T.R. issued to them by KoPT during registration to KoPT relating to **Permanent Security Deposit**
- (vii) The Bidder shall give a declaration about the names of their relations employed in Kolkata Port Trust. It is not the intention to debar the Contractors from working if their relatives are working in SMPK, but such a declaration is necessary in the interest of Trustees against any possible lapses.

4.0 **SECURITY DEPOSIT:-**

- 4.1 For the successful Bidder, the Earnest Money deposit will be converted to part of Security Deposit and the remaining security deposit will be recovered from the contractors each and every On-Account Bill [including the final bill, if necessary] at the percentage of each such bills as set forth in Clause. 3.4, 3.5 & 3.6 of the General Conditions of Contract.
- 4.2 Refund of S.D or its forfeiture shall be after competition of work as p[er relevant clause of GCC.

5.0 Delay/ Extension of time/ Liquidated Damage/ Termination of Contract.

Clause 8.0 of G.C.C. to be referred regarding Delay/ Extension of time/ Liquidated Damage/ Termination of Contract.

6.0 **REFUND OF EARNEST MONEY:-**

The Earnest Money received, will be refunded or released as the case may be to the unsuccessful Bidders without any interest after opening of Price bid (Part – II) of the e-Tender document.

7.0 **DETAILED SCRUTINY OF E-TENDERERS:**

During the course of examination of Part-I of the bid, the bidders, if asked for, shall furnish any or additional document(s) for the purpose of evaluation of his / their bids. The price bids i.e. Part-II of those bidders who meet the qualifying criteria of NIT shall be opened.

8.0 EVALUATION CRITERIA:-

During evaluation of Cover-II i.e. Price Part, provided that the bidder submits his offer following etender stipulations & specifications, **the overall lowest offer received** shall be considered for acceptance by the Trustees.

9.0 VALIDITY OF OFFER:-

The e-tender shall remain valid for a period of **4 (four) months** from the date of opening the same. If before expiry of this validity period, the Bidder amends his quoted rates or tender, making them unacceptable to the Trustees and / or withdraws his e-tender, the Earnest Money deposited shall be liable to forfeiture at the option of the Trustees/ Sanctioning Authority/Engineer.

- 10.1 Kolkata Port Trust reserves the right to accept / reject any / all offer(s) without assigning any reason thereof and also reserve the right to accept the tender **in part or as a whole**.
- 10.2 Any attempt to exercise undue influence in the matter of acceptance of Tender is strictly prohibited and any Tenderer who resorts to this will render his tender liable to rejection.

11.0 MISCELLANEOUS:

- (i) Bidder shall submit his offer for complete scope of work, strictly in accordance with the tender documents. Any deviation from the tender documents and / or any incomplete tender shall not be considered.
 - (ii) The bidder shall not impose his own terms & conditions in his offer or quote his rates based on his own terms and conditions, such E-Tenderers are liable to rejection at the option of the Trustees without further reference to the bidder.
 - (iii) All materials shall have to be procured by the successful Bidder and shall be of the best and approved quality conforming to relevant specifications. The successful Bidder shall also arrange for the supply of all labour, tools and plants as stipulated in the Special Conditions of Contract, required for efficient execution of the work.
 - (iv) All measuring units are in Metric System and rates and sums in the tender are in Indian Currency. The language used throughout shall be in English.

- (v) The Tender Documents with all the enclosures, appendices, Abstract Form of Tender and Form of Tender shall be required to be complete, duly filled in and signed and uploaded.
- (vi) Enlisted/registered contractor of SMPK will get the benefit of exemption of deposition of Earnest Money upto the prescribed limit. They are to upload the scan copy of the original T.R. issued to them by SMPK during registration to SMPK relating to **Permanent Security Deposit**
- (vii) The Bidder shall give a declaration about the names of their relations employed in Kolkata Port Trust. It is not the intention to debar the Contractors from working if their relatives are working in SMPK, but such a declaration is necessary in the interest of Trustees against any possible lapses.

SPECIAL CONDITIONS OF CONTRACT

1. GENERAL:

These provisions though given in a separate section are part of the tender documents which must be read as a whole, the various sections being complementary to one another and are to be taken as mutually explanatory. These provisions shall be read in conjunction with the other parts of the tender documents viz. General Conditions of Contract, Special Conditions of the Contract, Notice Inviting E-Tender, Instructions to Bidders, Specifications for Materials and Workmanship, Drawings, Bill of Quantities and other documents forming part of the Contract. In case of any discrepancy or ambiguity in the documents, the order of precedence of the documents as stated below will apply. In particular, these provisions will over ride those in the General Conditions provided there is discrepancy between them.

2. CORRELATION AND ORDER OF PRECEDENCE OF TENDER DOCUMENTS:

If the stipulations in the various tender documents be found to be at variance in any respect, one will override others (but only to the extent these are at variance) in the order of precedence as given in the list below, i.e. any particular item in the list will take precedence over all those placed lower down in the list.

- Order letter.
- · Bill of Quantities.
- Drawings.
- Particular Specifications of work.
- Special Conditions of Contract.
- General Conditions of Contract.

In case of any dispute, question or difference either during the execution of the work or any other time as to any matter or thing connected with or arising out of this Contract, the decision of the Chief Engineer, KoPT thereon shall be final and binding upon all parties.

3. SCOPE OF WORK:

The scope of the work comprises with misc. building repairs/plumbing and sanitary works and any other work as described and set forth in the Bill of quantities, Special Conditions of Contract, Technical Specification for Materials and Workmanship with all additional or varied works which may thereafter be required in accordance with Clause 7 of General Conditions of contract and as per the direction and up to the satisfaction of the Engineer.

Intending tenderer shall inspect the site of work in consultation with the Superintending Engineer(South) and acquaint him with the nature of work before his tender. His attention is drawn to Clause 3.1 of the

General Conditions of contract in this regards. No excuse on ignorance as to the site conditions availability of space for storing materials and approaches to etc will be entertained.

4. WORK SITE:

The work site is located at chetla SMPK Quarters complex, Chetla ,24 Pgs(S), West Bengal, under the jurisdiction of the Superintending Engineer (South).

Tenderer must visit the work site and its surrounding before submission of the tender, so that due consideration is given to the local condition at site. The intending tenderer should contact Superintending Engineer(South),51 CGR Road,Kolkata-700043 to make the site inspection along with his representation.

5. INSPECTION OF SITE:

The Bidder shall inspect the site of work and thoroughly familiarise himself with the nature and extent of the work, site conditions and location etc. before submission of the tender. He may contact the **Superintending Engineer (South)** at his office at **51, Circular Garden Reach Road, Kolkata 700 043 for** collecting information about the site before submission of the tender. No excuse or claim, whatsoever, shall be entertained afterwards on ignorance of the site conditions, extent of the work or any other parameter related to the scope of the work.

6. WORKING PERIOD:

Normally the work will be carried out between 8.00 A.M. to 5.00P.M. on the Trustees' working days only. However, the tenderer should note that he may be required to carry out the job on Sundays, holidays, after normal working hours or even at night time in addition to the normal working hours on no extra payment as per terms and conditions of the contract and extant rules.

7. SUFFICIENCY OF TENDER:

- i) All data / information as furnished herein or inspected and / or collected by the tenderer for the purpose of the work should be properly assessed, interpolated or utilised in his offer at his own responsibility and KoPT does not guarantee sufficiency or adequacy of the data / information so supplied to him or collected or understood by the tenderer.
- ii) The Contractor shall be deemed to have satisfied himself before tendering as to the correctness and sufficiency of his tender for the works and of the rates stated in the priced Bill of Quantities and the rates shall cover all his obligations under the contract and all matters and things necessary for proper execution of the work.
- iii) In case rate of particular item is printed erroneously in B.O.Q., the rate stated in the Trustees' sanctioned schedule of rates /special rates that is/was in vogue at the time of estimating for the subject work, will prevail over the rate misprinted in B.O.Q.

8. PARTICULARS OF EXISTING WORKS:

Such information as may have been given in the specification as to the existing features and works other than those now under construction as part of "Syama Prasad Mookerjee Port, Kolkata" given without warranty of accuracy and neither the Trustees nor the Engineer will be liable for any discrepancies therein.

9. **DISCRIPENCIES IN THE CONTRACT DOCUMENTS:**

In case of any discrepancy found in any part of the tender document, the Engineer's decision on this matter shall be final and binding and the Tenderers attention is drawn to clause 4.3 of the General Conditions of Contract in this respect.

10. METHOD OF MEASUREMENT:

Unless otherwise specified in the Particular Specifications and Bill of Quantities, the work shall be measured according to the current P.W.D.'s (Building, S&P & Road) Schedule of Rates (2014), Govt. of West Bengal and analysed rate. For details of measurement not covered by the above S.P.-27 1987 of B.I.S. shall be referred to.

11. ON ACCOUNT PAYMENT:

On account payment to the Contractor may be released from time to time at the discretion of the Engineer on the basis of measurements of completed works at the quoted rates in the Bill of Quantities. The terms of payment shall be in accordance with Clause-6 of the General Conditions of Contract. The Bills should be submitted by the contractor in quadruplicate to the Office of the **Superintending Engineer (South)** with necessary documents in original. Subject to the availability and feasibility of the system, SMPK may make payment directly to the contractor's designated bank account. For this purpose, the contractor will have to indicate (i) name of bank (ii) branch name (iii) branch code and (iv) designated account number in the "Abstract Form of Tender". In case payment is made directly through bank, the contractor may be required to submit a prereceipt as per instruction of SMPK.

12. TIME OF COMPLETION

The work is urgent in nature and must be commenced immediately on receipt of the work order and to be completed in all respect within Twelve (12) Months, including preliminary time from the date of placement of work order.

13. Contract Price:

The "Contract Price" for this contract means the sum named in the tender subject to such additions thereto, deductions there from or reductions due to supply of any materials by the Trustees' as provided for in the Contract.

14. HOLIDAY OR SUNDAY WORK:

Subject to provisions in local Acts and any statutes of the State, the Contractor shall arrange for working on Holidays and Sundays whenever so desired by the Engineer to expedite progress and complete the works in time. The Contractor shall not be entitled to any additional payment for taking up works on Holidays and Sundays. The Contractor should be prepared to resort to round-the-clock working by following shift timings for labour.

15. CONTRACT LABOUR LAWS:

The contractor shall be required to comply with the Minimum wages Acts 1948, Employees Liability Act, 1938, Industrial Disputes Act, 1947, and The Contract Labour (Regulation and Abolition) Act, 1970, or statuary amendments and the modifications thereof, any other laws relating thereto and the rules made there under from time to time. Minimum rate of payment to the labourers for any given time should be equal to the minimum wages fixed by Chief Labour Commissioner (Central) or

the minimum wages fixed by Govt. of West Bengal, during that period, whichever is higher.It will be the duty of the contractor to abide by the provisions of the Acts, Ordinances, Rules, Regulations, Byelaws and Procedures as are lawfully necessary in the execution of the works. The contractor will be fully responsible for any delay/damage etc. and keep the Trustees indemnified against all penalties and liabilities of any kind for noncompliance or infringement of such Acts, Ordinances, Rules, Regulations By-laws and Procedures.

The contractor shall indemnify the SMPK against payment to be made or for the non-observance of the laws aforesaid without prejudice to his right to claim indemnity from his subcontractor.

The aforesaid regulations shall be deemed to be a part of this contract and any breach thereof shall be deemed to be a Breach of Contract. It will be obligatory on the part of Contractor to obtain necessary Labour License from the Competent Authority for deploying requisite Nos. of labourers in the work and submit to the Engineer-In-Charge prior to commencement of the work.

The contractor shall also be required to comply regarding 'Workmen Compensation Act, 1923 as amended by Amendment Act No.65 of 1976'

In addition to the above, the Personal Injuries (Compensation Insurance) Act, 1963 and any modifications thereof and rules made there under from time to time. The contractor shall take into account all the above said financial liabilities in his quoted rates and nothing extra, whatsoever, shall be payable to him on this account.

The Contractor shall indicate maximum number of workmen to be engaged on any day for execution of the work in the appropriate place in the ABSTRACT FORM OF TENDER & he shall have to obtain a regular /permanent license as per sec12(1) of the Contract Labour Act.

Further , whenever a contract work has commenced or completed , the contractor has to intimate the same to the Assistant Labour Commissioner(Central) /labour Enforcement Officer (Central) in Form IV-A , within 15 days of such commencement or completion.

The contractor has to arrange for displaying the name of the Regional Labour Commissioner (Central), Asst. Labour Commissioner (Central) & Labour Enforcement Officer (Central) at his worksite(s). The contractor shall inform the Principal Employer the date, time & venue of disbursement to be made by him to his workers.

The successful bidder shall also be required to put up a notice at the site of work mentioning the date, time & venue of disbursement to be made by him to his workers and he or his authorized representative shall have to be present during period of disbursement.

16. COMPLIANCE WITH E.P.F & E.S.I ACT:

The successful contractor will have to comply with provisions of **EPF & MP Act -1952**, **Employees' State Insurance Act-1948** & Employees State Insurance (Amendment) Act, 1989 (along with amendments, if any), issued from time to time and as applicable to him.

If asked for by the Engineer, the contractor shall be required to submit photocopies of all payment challans of both employees' and employer's contributions deposited towards this acts and produce the originals for verification to the representative of the Engineer, i.e. **Superintending Engineer (South**).

16. INDEMNIFICATION:

The successful bidder shall be deemed to indemnify and keep indemnified the Trustees from and against all actions, claims, demands and liabilities whatsoever under and in respect of the breach of any of the provisions of any law, rules or regulations having the force of law, including but not limited to –

- a) The Minimum Wages Act, 1948.
- b) The Dock Workers (Regulation Of Employment) Act, 1948
- C) The Building And Other Construction Workers (Regulation of Employment & Conditions of Service) Act, 1996
- d) The Dock Workers' Safety, Health & Welfare Act, 1986
- e) The Payment of Wages Act, 1936.
- f) The Workmen's Compensation Act, 1923.
- g) The Employees Provident Fund Act, 1952.
- h) The Contract Labour (Regulation and Abolition) Act, 1970; Rules 1971.
- i) The Payment of Bonus Act, 1965.
- j) The Payment of Gratuity Act, 1972.
- k) The Equal Remuneration Act, 1976.
- The Employees State Insurance Act, 1948 & Employees State Insurance (Amendment) Act ,1989
- m) Child Labour (Prohibition and Regulation) Act, 1986.
- n) The Maternity Benefits Act 1961
- o) Interstate Migrant Workmen (Regulation of Employment & Conditions of Service) Act, 1979.
- p) Motor Vehicle Act, latest revision.

20. TAXES & DUTIES: -

The rate quoted by the tenderer should be complete in all respect and should include all taxes, octroi, surcharge etc. (**except GST**) payable to Government or any other concern and no extra payment, whatsoever will be entertained by the Trustees' under any circumstances.

GST, if leviable, will be paid extra by the Trustees as applicable. The bidder should not include GST in his rates.

21. SETTLEMENT OF DISPUTES:

If a dispute of any kind whatsoever arises between SMPK and the Contractor in connection with or arising out of the contract or the execution of the works, the same shall be dealt as per relevant provisions of the Trustees' General Conditions of Contract.

22. CALCUTTA PORT TRUST:

The expression "CALCUTTA PORT TRUST' and "KOLKATA PORT TRUST" appearing anywhere in the tender documents, shall be construed to read as "SYAMA PRASAD MOOKERJEE PORT, KOLKATA".

23. CLARIFICATION OF BIDS:

To assist in the examination and comparison of Tenders, SMPK at its discretion, may ask any Tenderer for clarification of his Tender, including breakdown of unit rates or analysis for his quoted rate as may be applicable. The request for clarification and the response shall be in writing, but no change in the price or substance of the Tender shall be sought, offered, or permitted except as required to confirm the correction of arithmetic errors discovered by SMPK in the evaluation of the Tenders.

No Tenderer shall contact SMPK on any matter relating to his Tender from the time of the Tender opening to the time the contract is awarded. If the Tenderer wishes to bring additional information to the notice of SMPK, he should do so in writing.

Any effort by the Tenderer to influence the SMPK Tender evaluation, Tender comparison or contract award decisions, may result in the rejection of his Tender.

24. WORKMEN AND WAGES:

The Contractor shall deliver, if ordered, a weekly return for all labour employed in writing in the requisite form as instructed by the Engineer or his representative.

The contractor shall have to engage sufficient number of technically qualified and skilled persons to supervise and execute the work **and this should be mentioned in the "Schedule-T" of the Contract.**

25. DISPARITY IN QUOTED RATE/AMOUNT:

If there is any disparity between the quoted rate in percentage and the Tender Amount, the rate quoted in percentage shall prevail as the rate quoted by the tenderer and the Tender Amount shall

be derived by adding/subtracting (as the case may be) this percentage with/from the Estimated Value put to tender. Similarly in case of disparity between the rate quoted in figures and in words, the rate quoted in words shall prevail.

26. Rate for payment against extra item.

For any unforeseen work not covered under the Bill of Quantities and Condition of Contract, depending on contingent situation at site, if required for successful completion of the work, extra items have to be carried out by the Contractor. If those items are already available in Trustees' Schedule of rate, payment will be made on the basis of Trustees' Schedule of rate; including surcharge in force at the time of acceptance of the tender, if any adopted by the Trustees with due regard to the accepted contractual percentage, if any, thereon, otherwise, if the rates are not available in the SMPK Schedule of Rates, then the Special Rates will be prepared as follows:-

- (i) The rate of payment of work involving labour & material shall be fixed on the following basis.
- a) Cost of materials consumed including transport and wastage, plus
- b) Cost of labour actually engaged in the works, plus
- c) Taxes and Duties as applicable, plus
- d) 16 % on the aggregate of (a) and (b) towards overhead, profit and cess.
- (ii) For any work involving only labour, rate of payment shall be fixed on cost of labour actually engaged in the work plus 11 % towards profit and cess.
- (iv) For only supply of any material at site, rate of payment shall be fixed on actual cost of material plus transport, loading & unloading (if any) plus 11 % towards profit and cess.

SCHEDULE T Annexure-C (Contd)

श्यामा प्रसाद मुखर्जी पत्तन, कोलकाता SYAMA PRASAD MOOKERJEE PORT, KOLKATA

 ${\tt CONCURRENT\ COMMITMENT(S)\ OF\ THE\ BIDDER\ (i.e\ Works\ In\ The\ Hand\ Of\ The\ Bidder}$

The Time of Submission of Tender Offer)

(To be submitted with Cover-I of Offer)Bidders must fill in the under noted columns.

Full particulars of works to be		Completion	Name and address to whom
executed concurrently by the bidder.	Tender Value.	l .	reference can be made.
(i) Name of work.	(in Rs.)	in tender.	
(ii) Client			
(II) Client.			
(iii) W.O. No. & Date.			
(i)			
(ii)			
(iii)			
(i)			
	executed concurrently by the bidder. (i) Name of work. (ii) Client. (iii) W.O. No. & Date. (i)	executed concurrently by the bidder. (i) Name of work. (ii) Client. (iii) W.O. No. & Date. (i) (iii) (iii)	executed concurrently by the bidder. (i) Name of work. (ii) Client. (iii) W.O. No. & Date. (iii) (iii) (iii)

	(ii)			
3	(i)			
	(ii)			
	(iii)			
4				
4	(i)			
	(ii)			
	(iii)			

(To be submitted with Cover-I of Offer) Annexure-C(Contd) SCHEDULE 'O' SHEET -1

The Bidders are also requested to furnish the following particulars:-

- A) In case of Limited Company -
- 1) Name of Company
- 2) Address of its present registered office.
- 3) Date of its incorporation
- 4) Full name and address of each of its Directors any special particulars as to Directors if desire to be stated.
- 5) Name, address and other necessary particulars of Managing Agents, if any appointed by the Company.
- 6) Copies of Memorandum, Articles of Association (with the latest amendments, if any).
- 7) Copies of audited balance sheets of the Company for the last two years.
- B) In case of a firm -
 - 1) Name and address of the : firm.

- 2) When business started :
- 3) If registered a certified copy of : certificate of registration.
 - 4) A certified copy of the Deed : of Partnership
- 5) Full name and address of each of : the partners and the interest of each partner in the partnership any special particulars as to partners if desired to be stated.
- 6) Whether the firm pays income tax : over

Rs.10, 000/- per year

(To be submitted with Cover-I of Offer)

SCHEDULE 'O' SHEET - 2.

C) In case of an Individual:

 Full name and address of the Bidder any special particulars of the Bidder if desired to be stated. 	:
2)Name of the father of the Bidder.	:
3) Whether the Bidder carries on business in his own name or any other name.	:
4) When business was started and by whom.	:
5) Whether any other person is interested in the business directly or indirectly, if so, name and address etc. of such persons and the nature of such interest.	:
6) Whether the Bidder pays Income Tax over Rs.10, 000/- per year.	:
Dated:	(Full signature of Bidder)

Proforma of Performance certificate/credential of works)
[To be issued on issuing authority's letterhead duly signed with office seal]

1.	Name of the Certifying Authority:	
2.	Name of the work :	
3.	Name of the Contractor :	
4.	Schedule date of commencement and completion of the work as per Work Order :	
5.	Date of actual commencement of work & date of actual completion :	
6.	i) If there is time overrun, whether delay is due to the contractor (Yes/No.): ii) If yes, what is the extent of delay attributable to the contractor:	
7.	Sanctioned Tender value & Actual value executed :	
8.	Quality of work (Excellent/satisfactory/poor) :	
9.	Remarks (If any) :	

DOCUMENTS TO BE UPLOADED ALONG WITH COVER -I

Scanned copy of the following documents to be uploaded:-

- ii) Valid Trade Licence.
- iii) Valid Professional Tax Clearance Certificate / Up to date tax payment challan.
- iv) Proof of possessing valid Employees' Provident Fund (EPF) Account. EPF Registration Certificate.
- v) Proof of being registered with Employees' State Insurance Corporation (ESIC), ESI GST Registration Certificate.
- vi) Details of the firm as per Schedule-O (in Volume-I) of the tender document.
- vii) Credentials in the form of copies of Letters of Award of Works along with corresponding Completion Certificates from owners to justify that the intending bidder satisfies the earlier mentioned pre-qualification criteria.
- viii) Copies of balance sheet and Profit and Loss account / Trading account for the last 3 (three) financial years (i.e. 2019-2020, 2020-2021 and 2021-2022) and the same should be audited as per relevant norms wherever required.
- ix) Addendum/Corrigendum / Notice / Extension Notice issued and drawings (if any) duly signed by the Bidder under office seal.
 - The bidder will have to produce the original documents or any additional documents, if asked for, to satisfy the Authorities.
- x) EMD & Cost of Tender documents.
- xi) Original T.R. relating to Permanent Earnest Money Deposit.
- xii) Duly signed full Techno Commercial Part(Part-I) and Price Bid(Part-II)
- xiii) Certified copies of PAN Card
- xiv) Bank Draft/ Pay order etc. regarding EMD & Cost of Tender documents
- xiv) GST Registration Certificate (Mandatory)

Annexure -E

DATED: 02.02.2023

श्यामा प्रसाद मुखर्जी पत्तन, कोलकाता Syama Prasad Mookerjee Port, Kolkata सिविल इंजीनियरिंग विभाग/ Civil Engineering Department अधीक्षण अभियंता , साउथ का कार्यालय/ Office of the Superintending Engineer (South) 51,सि. जी. आर. रोड , कोलकाता -700043_Tele – 033 71003352 E-mail id:jb.boipai@kolkataporttrust.gov.in

IT No.CE/South/chetla quarter/NIT/22-23/9/258

NOTE: Last Date of Download of tender documents 22.02.2023 (up to 15:00 hours)

Tender is due for submission by 22.02.2023 upto 3:00 P.M.

PRICE BID (PART-II)

BILL OF QUANTITIES

SLNo	Description	Qty	Unit	Rate	Amount
1	Dismantlingalltypesofmasonryexceptingcement concreteplainorreinforced, stackingserviceablemat erialsatsiteandremovingrubbishasdirectedwithinale adof75m.				
	In groundfloor includingroof	2	Cu.Mtr	447	894.00
(b)	In 1stfloor includingroof	0.5	Cu.Mtr	497	248.50
(c)	In 2ndfloorincluding roof	0.5	Cu.Mtr	547	273.50
(d)	In 3rdfloor includingroof	1	Cu.Mtr	597	597.00
2	Dismantlingalltypesofplaincementconcreteworks,stackingserviceab lematerialsatsiteandremovingrubbishasdirectedwithin a lead of75 m				
(a)	In groundfloor includingroof	1	Cu.Mtr	939	939.00
(b)	In 1stfloor includingroof	1	Cu.Mtr	989	989.00
(c)	In 2ndfloorincluding roof	1	Cu.Mtr	1039	1,039.00
(d)	In 3rdfloor includingroof	1	Cu.Mtr	1089	1,089.00
3	DismantlingR.C.floor,roof,beamsetc.includingcuttingrodsandr emovingrubbishasdirectedwithinaleadof75m.includingstackin gofsteelbars.				
	In groundfloor includingroof	1	Cu.Mtr	1956	1,956.00
(b)	In 1stfloor includingroof	1	Cu.Mtr	2006	2,006.00
(c)	In 2ndfloorincluding roof	1	Cu.Mtr	2056	2,056.00
(d)	In 3rdfloor includingroof	1	Cu.Mtr	2106	2,106.00
4	Dismantleartificialstonefloorupto 50mm thickbycarefully chisellingwithoutdamagingthebaseandremovingrubbishasdirected with a leadof75m.				
(a)	In groundfloor includingroof	20	Sq.Mtr	50	1,000.00
(b)	In 1stfloor includingroof	20	Sq.Mtr	56	1,120.00
(c)	In 2ndfloorincluding roof	20	Sq.Mtr	62	1,240.00
(d)	In 3rdfloor includingroof	20	Sq.Mtr	68	1,360.00

5	Cuttingchaseupto125x150mmandsubsequentmendingof damagesinbrickwall[Cement-3.6 Kg/Mtr]	30.00	Mtr	93.00	2,790.00
6	Removalofrubbish,earthetc.fromtheworkingsiteanddisposal ofthesame beyondthecompoundin conformitywiththeMunicipal/CorporationRulesforsuchdisposal,loadin gintotruckandcleaningthesiteinallrespectasperdirectionofEngineer-in-Charge.	50	Cu.Mtr		8,300.00
7	Cleaningtheconcretesurfacebyremovingdirtanddebris, markingdefectivelocationsandremovinglooseconcretebycarefulstrip pinguntilhardsurfaceis exposed,cuttingtheconcretetoregularshape,wirebrushingtheexpose dsurfaceandremovingdebrisfromsite completeasperdirectionoftheEngineer - in - Charge.	50	Sq.Mtr	90	4,500.00
8	Applyingepoxybasedreactivejoiningagentforjoiningtheoldconcretewi thfreshconcretetobeappliedwithinmanufacture'sspecifiedtimeasper manufacturer'sspecification.(0.4Kg./m2ofconcretesurface)Note:App licableonlywhenthefulldiameterofreinforcing steelisexposed.	50.00	Sq.Mtr	309.00	15,450.00
9	Polymerconcretemadewithwaterresistantbondingagentof syntheticrubberemulsionaspermanufacturer'sspecificationexcluding thecostofcementconcrete(2.75Kg/bagofcement)Note:Paymentonvolume of(1:1½:3) concrete.	1.00	Cu.Mtr	4414	4,414.00
10	OrdinaryCementconcrete(mix1:1.5:3)withPakurvarietygradedstone chips(20mmnominalsize)excludingshutteringandreinforcementifany, inground floorasperrelevantIScodes.				
(a)	In groundfloor includingroof	1	Cu.Mtr	6124.34	6,124.34
(b)	In 1stfloor includingroof	1	Cu.Mtr	6219.34	6,219.34
(c)	In 2ndfloorincluding roof	1	Cu.Mtr	6314.34	6,314.34
(d)	In 3rdfloor includingroof	1	Cu.Mtr	6409.34	6,409.34
11	Providereinforcementforreinforcedconcreteworkinallsortsofstructure sincludingdistributionbars, stirrups, binderetc., includingsupplyofrodsi nitialstraighteningandremovaloflooserust (ifnecessary), cuttingto requisitelength, hookingandbendingtocorrectshapeplacinginproperp ositionandbindingwith 16 gauge blackannealed wire at every intersection complete asperdrawing and direction.				
	Tor Steel/Mild steel.				
	Forworksinfoundation,basementanduptoroofofgroundfloor/upto 4 m. Otherthan SAIL/TATA/RINL.	0.2	MT	60580	12,116.00
(a)	In1 stfloorincluding roof	0.2	MT	61060	12,212.00
(b)	dodo in 2ndfloor	0.20	MT	61540	12,308.00
(c)	dodo in 3rdfloor	0.20	MT	62020	12,404.00
12	eandlabourchargesforshutteringwithcenteringandnecessarystaging upto4musingapprovedstoutpropsandthickhardwoodplanksofapprov edthicknesswithrequiredbracingforconcreteslabs,beamsandcolumn s,lintelscurvedorstraightincludingfitting,fixingandstrikingoutaftercom pletionofworks(uptoroofofgroundfloor)(Whentheheightofaparticularfloorismorethan4mtheequivalentfloorheightshallbetakenas4mandextraforworksbeyondtheinitial4mht.shallbeallowedforevery4 m orpartthereof)-25 mmto 30mmthickwoodenshuttering asper decision&directionofEngineer-In-Charge.				
(a)	In groundfloor includingroof	5	Sq.Mtr	335	1,675.00
(b)	In1stfloor includingroof	5	Sq.Mtr	353	1,765.00
(c)	In 2ndfloorincluding roof	5	Sq.Mtr	371	1,855.00
(d)	In 3rdfloor includingroof	5	Sq.Mtr	389	1,945.00

13	Provideandlayordinarycementconcrete(1:2:4)withgraded stonechips(20mm.Nominalsize)excludingshutteringand reinforcement,asperrelevantCode – Pakur/Chandilvariety.				
(a)	In groundfloor includingroof	2	0144		11,066.68
(b)	In 1stfloor includingroof	1	Cu Mtr Cu.Mtr	5628.34	5,628.34
(c)	In 2ndfloorincluding roof	1	Cu.Mtr	5723.34	5,723.34
(d)	In 3rdfloor includingroof	2	Cu.Mtr	5818.34	11,636.68
14	Cementconcretewithgradedjhamakhoa(30mmsize)excludingshutteri ng In ground floorand foundation.1:3:6proportions.		Cu.Mtr		4,761.00
15	SingleBrickFlatSolingofpickedjhamabrick)includingrammingand dressingbed to proper leveland fillingjointswithlocalsand.	10	Sq.Mtr		3,610.00
16	Brickworkwith 1stclassbricksincementmortar (1:6)				
(a)	In superstructure,ground floor.	1	Cu.Mtr	5636	5,636.00
(b)	In superstructure,firstfloor.	0.5	Cu.Mtr	5747	2,873.50
(c)	In superstructure,2nd floor.	0.5	Cu.Mtr	5858	2,929.00
(d)	In superstructure,3rd floor.	0.5	Cu.Mtr	5969	2,984.50
17	125mm.thickbrickworkwith1stclassbricksincementmortar (1:4).				,
(a)	In superstructure,ground floor.	10	Sq.Mtr	736	7,360.00
(b)	In superstructure, firstfloor.	10	Sq.Mtr	748	7,480.00
(c)	In superstructure,2nd floor.	10	Sq.Mtr	760	7,600.00
(d)	Insuperstructure,3rd floor.	10	Sq.Mtr	772	7,720.00
18	Plaster(towall,floor,ceilingetc.)withsandandcementmortarincludingro undingofforchamferingcornersasdirectedandrakingoutjointsincludin gthroating,nosinganddripcourse,scaffolding/staging wherenecessary.(Groundfloor) [Excluding costofchippingover concretesurface				
(i)	20 mmthickplasterin1:6mortar.				
(a)	In groundfloor.	100	Sq.mtr.	175	17,500.00
(b)	In 1stfloor.	50	Sq.mtr	179	8,950.00
(c)	In2ndfloor.	50	Sq.mtr	183	9,150.00
(d)	In 3rdfloor.	50	Sq.mtr	187	9,350.00
(ii)	15 mmthickplasterin1:6mortar.		•	1	
(a)	In Groundfloor	100	Sq.mtr	151	15,100.00
(b)	In 1stfloor.	50	Sq.mtr	155	7,750.00
(c)	In 2ndfloor.	50	Sq.mtr	159	7,950.00
(d)	In 3rdfloor.	50	Sq.mtr	163	8,150.00
(iii)	10 mmthickplasterin1:4mortar				
(a)	In Groundfloor.	50	Sq.mtr	133	6,650.00
(b)	In1st floor	50	Sq.mtr	137	6,850.00
(c)	In2 nd floor.	50	Sq.mtr	141	7,050.00
	In3 rd floor	50	Sq.mtr	145	7,250.00
19	Strippingoffwomoutplasterandrakingoutjointsofwalls, ceilingsetc.uptoanyheightandinanyfloorincludingremovingrubbish withina leadof75masdirected.	600	Sq.Mtr	19	11,400.00
20	Neatcementpunningabout1.5mmthickinwall,dado,windowsill,flooret c.Note:- Cement0.152 cumper100 sqm.	100	Sq.mtr	34	3,400.00

21	Woodworkindoorandwindowframefittedandfixedinpositioncompletei ncludingaprotectivecoatofpaintingatthecontactsurfaceoftheframeex cludingcostofconcrete,IronButtHingesandM.Sclamps.(Thequantum shouldbecorrecteduptothreedecimals).Sal:Malaysian-				
(a)	In groundfloor	0.05	Cu.Mtr	83218	4,160.90
(b)	In 1stfloor	0.05	Cu.Mtr	83418	4,170.90
(c)	In2ndfloor	0.05	Cu.Mtr	83618	4,180.90
	In 3rdfloor	0.05	Cu.Mtr	83818	4,190.90
22	Labourfortakingoutdoorandwindowframeincludingshutterforrepairorr eplacementofdifferentpartsoftheframe&refixingthesameincludingme ndinggoodalldamagescomplete.(Concreteandbrickworkformending damagewillbepaidseparately)-Upto	10	Per Sqm	119	1,190.00
	Panelshuttersofdoorandwindow,asperdesign(eachpanelconsistingof singleplankwithoutjoint),includingfittingandfixingthesameinpositionb utexcludingthecostofhingeandotherfittings.Sishu,Gamar,Champ,Badam,Bhola,Mogra,Hallak.(Incaseofnonsupplyofsingleplank,penalrateofreductionof20%willbemade)-35mmthickshutterswith19mmthickpanelofsize30 to 45 Cm.				
(a)	In groundfloor.	1	Sq.Mtr	2948	2,948.00
(b)	In 1stfloor.	1	Sq.Mtr	2977	2,977.00
(c)	In 2ndfloor.	1	Sq.Mtr	3006	3,006.00
(d)	In 3rdfloor.	1	Sq.Mtr	3035	3,035.00
24	Takingoutshutterofdoorandwindow,dismantlingbyparts(forrepairorre placementofdamagedarts),reassemblingandrefittingandrechargings amewitholdfittingsbutwithnewscrewsasnecessary.(Wheredifferentp artsofsameshutterarerenewedunderdifferentitem,paymentunderthisi temwillbemadeonceonly.)	20	Sq.Mtr	126	2,520.00
25	Easing doorsand windows.	50	Each	17	850.00
26	Stylesandrailsofwoodenshuttersfittedandfixedcomplete.(Paymenttob emadeonareaofnewworkonly)-35mmthickshutterwithSishu,Gamar,Champ,Badam,Bhola,Mogra,Hallak-ingroundfloor.	2	Sq.Mtr	2292	4,584.00
27.	Z-battenshuttersofdoorandwindowasperdesignhavingstonguedandgr oove-halflapjointedasperdirectionoftheEngineer-in-Chargeincludingfittingandfixingshutterinposition,butexcludingthe costofhinges and other fittings -Sishu,Gamar,Champ,Badam,Bhola,Morga,Hallak Shutter with 25mmthickplanks-19mmthickbattens.				
(a)	In groundfloor.	1	Sq.Mtr	2750	2,750.00
(b)	In 1stfloor.	0.5	Sq.Mtr	2779	1,389.50
(c)	In 2ndfloor.	0.5	Sq.Mtr	2808	1,404.00
(d)	In 3rdfloor.	0.5	Sq.Mtr	2837	1,418.50
28	Supplying&fixingIronbutthingesofapprovedqualityfittedandfixed withsteelscrews,with ISImark.				_
1	75mm.X40mm.X1.12mm	50	Each	28	1,400.00
11	100mm.x50mm.X1.25mm.	50	Each	43	2,150.00
29	Ironhaspboltofapprovedqualityfittedandfixedcomplete(oxidised)with 16mmdiarodwithcentreboltandroundfitting.300mmlong.	12	Each	166	1,992.00
30	Supplying, fitting and fixing M.S. clamps for door and window frame made offlat bentbar, end bifurcated with necessary screws	12	Each	20	240.00

31	Irondoorringofapprovedqualityfittedandfixedwithnutandwasher- 50 mmdia.	12	Each	17	204.00
32	Provide,fit&fixIron Socketboltsofapproved qualitycomplete				
(i)	-100mmlong x10mmdiabolt	24	Each	40	960.00
(ii	-150mmlong x10mmdiabolt	12	Each	63	756.00
33	Anodisedaluminium'D'Typehandleswithofapprovedqualitymanufact uredfromextrudedsectionconformingto IS.Specification(IS230/72)fittedandfixedcomplete.Withcontinuousb aseplate(hexagonalorroundrod)-125mm.gripx10 mm.dia.rod	10	Each	95	950.00
34	Repairing crackinwallby cementgrouting	150	%Mtr	1392	2,088.00
	(1:2)includingwideningthecrackonthesurface(intoVsection)cleaninga ndpackingthesamewithcementmortar(1:2)andfinishing offtomatch with adiacentsurface.(cement-69Kg/100 m)				
35	SupplyingbestIndiansheetglasspanessetinputtyandfittedandfixedwit hnailsandputtycomplete.(Inallfloorsforinternalwall&upto6mheightfor externalwall)(i)3mmthick(weighing 7.4 kg/Sq.m)	10	Sq.Mtr	477	4,770.00
36	Artificialstoneinfloor,dado,staircaseetcwithcementconcrete(1: 2:4)withstonechips,laidinpanelsasdirectedwithtoppingmadewit hordinaryorwhitecement(asnecessary)and marbledust inproportion(1:2)includingsmoothfinishingandroundingoffcor nersincludingrakingoutjointsorrougheningofconcretesurfacean dapplicationofcementslurrybeforeflooringworksusingcement @1.75kg/sq.mallcompleteincludingallmaterialsandlabour.25m mthickwith3mmthicktopping.				
(i)	In groundfloor	20	Sq.mtr	273	5,460.00
(ii)	In 1stfloor	20	Sq.mtr	277.1	5,542.00
(iii)	In 2ndfloor	20	Sq.mtr	281.2	5,624.00
(iv)	In 3rdfloor	20	Sq.mtr	285.3	5,706.00
37	Applyingdecorativecementbasedpaintofapprovedqualityafterp reparingthesurface includingscrapingthesamethoroughly(plasteredorconcretesurface) as permanufacturer'sspecification.(iii)Twocoats.				5,7,55,65
(i)	In groundfloor	50	Sqm.	49	2,450.00
(ii)	In1 stfloor	50	Sqm.	49.71	2,485.50
(iii)	In2 nd floor	50	Sqm.	50.42	2,521.00
(iv)	In3rd floor	50	Sqm.	51.13	2,556.50
	Provideandapplywhitewashingincludingcleaningandsmootheningsur facethoroughlyinallfloors–Twocoats(tobedone onspecificinstruction.	3000	%Sqm.	1814	54,420.00
39	Provideandapplycolourwashingwithanyshadewithstrainers,asrequir edincludingcleaningandsmootheningsurfacethoroughly– Internalsurface(allfloor)–twocoats–otherthanyellow/pink.	3000	%Sqm.	2046	61,380.00
40.(a)	Primingonecoatontimberorplasteredsurfacewithsyntheticoilboundpri merofapprovedqualityincludingsmootheningsurfacesbysandpaperin getc.(Itemapplicableonnewsurfaceorwhenthe originalsurface hasbeen exposedby removalofoldpaint).	150	Sqm	38	5,700.00
40b	Primingonecoatonsteelorothermetalsurfacewithsyntheticoilboundpri merofapprovedqualityincludingsmootheningsurfacesbysandpaperin getc.(Itemapplicableonnew surfaceorwhentheoriginalsurfacehasbeenexposed byremovalofoldpaint).	100	Sqm	29	2,900.00
41	Scrapingandremovinggreasysootfromwallsorceilingofkitchenorsimil arsmokeaffectedroomsandpreparingthesurface.	100	Sqm	11	1,100.00

	Provideandapplytwocoatbestqualitysyntheticenamelpaintofapprove				
	dmakeandbrandincluding		-	-	
42	smootheningsurfacebysandpaperingetc.,includingusingofapproved				
	puttyetc.,onthesurface,ifnecessarywithotherthanhi–				
1	glossofapprovedquality - two coats,				
	(a)Ontimberorplasteredsurface:				
		150	Sqm	75	11,250.00
а	(iv)Twocoats(withany shadeexceptwhite) On steelor other metal surface-with anyshade exceptwhite.	100	oq	10	11,230.00
	on steeler other metal surface with anythiade exceptivine.	100	Sqm	72	7,200.00
b			·		,
	M.S.structuralworksincolumns,beamsetc.withsimplerolledstructural				
	members				
	(e.g.joists,angle,channelsectionsconformingtolS:226,IS:808&SP(6)				
	-				
	1964connectedtooneanotherwithbrackets,gussets,cleatsasperdesig				
1	n,directionofEngineerInChargecompleteincludingcuttingtorequisites				
	hapeandlength,fabricationwithnecessarybolting,metalarcweldingco	0.5		70000	20224 5
	nformingto IS: 816-1956&IS:	0.5	M.T	72603	36301.5
	1995usingelectrodesofapprovedmakeandbrandconformingtolS:814				
	- 1957,haulage,hoistinganderectionallcomplete.Therateincludesthec				
	ostofrolledsteelsection,consumablessuchaselectrodes,gasandhirec				
	hargeofalltoolsandplantsandlabourrequiredfortheworkincludingallinc				
	identalchangessuchaselectricitycharges,labourinsurance				
43	chargesetc.				
	Paymenttobemadeonthebasisofcalculatedweightofstructuralmembe				
	rsonlyinfinishedworkasperIS				
	specifiedweight.Paymentforgusset,bracket,cleat,rivets,boltsandnuts				
	maybemakebyaddingtheactualweightofsuchitemswiththeweightoffin				
	ishedstructuralmembersor7%ofweightcalculatedweightofstructural				
	membersonlyinfinishedworkasperlSspecifiedweight.Paymentforgus				
	set,bracket,cleat,rivets,boltsandnutsmaybemakebyaddingtheactual				
	weightofsuchitemswiththeweightofwiththeweightoffinishedstructural				
	membersor7%ofweightforfinishedstructuralmembersweighingnotles				
	sthan22.5Kg./m.or15%ofweightforfinishedstructalmembersweighing				
	lessthan22.5Kg./m.maybeincreasedallowforbracket,cleat,rivet,bolts andnutsetc.andnoseparatepaymentbeingmadefortheseitems,asper				
	directionofEngineerInCharge.Theratesareconsideredforaheightofer				
	ection8m./2ndfloorlevelfromtheground.Add1.5%extraovertheratefor				
	each additionalfloor or 4m.beyondinitial8m.orpartthereof.				
	For Structural Works in Boot Truccocata using initial shannels and				
	-ForStructuralWorksinRoofTrussesetc.usingjoists,channelsand anglesofspecifiedsection weighinglessthan22.5 kg/m				
44	Removingchokageofrainwaterpipeswithsplitbamboo.	300	%Mtr.	751	2,253.00
l	I lors of ing and rome ving and antefrom the security as a five lieuway of the security				
45	Uprootingandremovingplantsfromthesurfaceofwallsparapetetcandm akinggooddamages.Repairingofdamagestobepaidseparately.				
(=)		100	Fach	50	E 000 00
(a)	Small plantofgirthofexposedstemupto75 mm.liftupto 6mtr.	100	Each	30	5,000.00
(b)	Mediumsizeplantofgirthofexposedstemabove75mm.butnotexceedin	20	Each	60	1 200 00
	g 150 mm.liftupto 6mtr.	20	Each	60	1,200.00
46	Takingoutrainwaterdownpipes,removingchokagesandrefixingthesa				
	meinpositionincludingmendinggooddamages(oftakingoutandrefixing	150	Mtr	12	1,800.00
47). Taking outrainwaterdown pipe .		1	 	1,000.00
**	raking odnamwatordown pipe .	30	%Mtr	895	268.50
L		30	,		200.30

8	Supplying, fitting&fixingUPVCpipesA- TypeandfittingsconformingtoIS:13592- 1992withallnecessaryclampsnails, includingmakingholesinwalls, floo retc.cuttingtrenchesinanysoilthroughmasonryconcretestructuresetci fnecessaryandmendinggooddamagesincludingjoiningwithjointingm aterials(Spun Yarn, Valamoid/Bitumen/M-Sealetc)complete. UPVC pipes110 mmdia.	30	Mtr	251	7,530.00
b	UPVC fittings- Bend87.5 degree-110 mmdia.	10	Each	140	1,400.00
49	Clearingcompoundpremisesofshrubs,plants,junglesetc.bycutting andremoving asdirected. (SpecificpermissionofEngineer-in-Chargepriortoexecutionwillbe necessary).(Paymentto be made on areacleared)]	5000	Sqm	11	55,000.00
50	SurfaceDressingofthegroundinanykindofsoilincludingremovingvege tationinequalitiesnotexceeding15cmdepthanddisposalofthe rubbishwithin a lead upto75 masdirected.	1000	Sqm	10	10,000.00
51	Earthworkinexcavationoffoundationtrenchesordrainsinal sortsofsoil(includingmixedsoilbutexcluding ateriteorsandstone) includingremoving,spreadingorstackingthespoilswithinaleadof75m.Asdirected.Theitemsincludesnecessarytrimmingofsidesoftrenches,levelling,dressingandrammingthebottom,bailingoutwateretc.,asrequiredcomplete.Depthofexcavation notexceeding 1.5m.	10	%Cum	11927	1,192.70
52	Takingoutdoorshutterandrechargingthesame byfixingaluminiumsheet[0.457 mm]with propernailetc.]	5	Sqm	603	3,015.00
53	Extrarateforusingwaterproofingandplasticisingadmixture@0.2%byw eightofcement(oratmanufacturer'sspecifiedrate)forconcrete ofvariousgrades.	20	Kg	119	2,380.00
54	Cleaningtheexposedreinforcementpreferablyuptofulldiameterbywire brush, applyingtwocoatsofpolymerbasedrustremovingcompoundleftf or 24 hours, removing the coating and then applying two (2) coatsofpolymermodified anticorrosive protective coating formulated to inhibit the corrosion of reinforcement aspermanufacturer's specification [Modeofmeasurement: The affected surface area of reinforcements hall be considered for payment]	5	Sqm	782	3,910.00
55	Removingcorrodedwornoutportionofreinforcement(whent heareaofbarisdamagedbymorethan25%)bycuttingandrepl acingthesamebyanewplainroundbarofrequisitediameterby bindingwithrequiredlap/weldingwitholdbar,includingcost ofreinforcement,completeinallrespectincludingremovingu nserviceablematerialsfromsiteasperdirectionoftheEnginee r-in-charge.	50	Kg	87	4,350.00
	Note:Paymentonweight(Kg.)ofnew	-			
	reinforcement.				

56	Makingoneset ofscaffoldingonlyforreplacingglasspanels,painting,uprootingpl antandanotherrepairingworksofbuildingandS&Pworksforexter nalworksonlywith10cm.diabambooasmainpostsattherateof1me trecentretocentreand 7.5 cm.diabambooties@ 0.75 metreapartfittingandfixingwith Necessarycoir,nailsetc.asperdirectionoftheEngineer-incharge. (ThisitemshouldbeexecutedonlyafterpriorapprovaloftheEngine erincharge). Firstly,onenumbertobepaidandthenlabourrateforshift inguptofurthernineteenth(19)times@10%eachtimetobeconside red.Ifnecessaryfurtheraftertwentytimesoftotaluse,anotheronen umbernewandlabourrateforshiftingtobeconsideredaccordingly				
а	3.90metreheight	1	Each	279	279.00
b	Extraforadditional3.6mtr.Heightorpartthereof	4	Each	245	980.00
С	Extraforlabourrateforshiftingof(a)above	19	Each	27.9	530.10
d	Extraforlabourrateforshiftingof(b)above	76	Each	24.5	1,862.00
57	Easingandoiling, cleaning collapsible gate and repairing to locking arrangements	20	Sqm	17	340.00
	SANITARY&PLUNBING				725,395.80
1	Supplying, fitting and fixing white vitre ous china best quality a pproved make wash basin with C.I. brackets on 75 mm X75 mm wooden blocks, C.P. waste fittings of 32 mm dia., one approved quality brass C.P. pillar cock of 15 mm dia., C.P. chain with rubbe rplug of 30 mm dia., approved quality P.V.C. waste pipe with C.P. nut 32 mm dia., 900 mm long approved quality P.V.C. connect ion pipe with heavy brass C.P. nut including mending good all damages and painting the brackets with two coats of approved paint. (ii) 550 mm X400 mm size	4	Each	2208	8,832.00
2	DismantlingE.P.orAnglo-IndianW.C.	4	Each	45	180.00
3	Supplying, fitting and fixing E.W.C. in white glazed vitreous chinaware of approved make complete in position with necessary bolts, nut setc (a) Wh'P' trap	4	Each	1421	5,684.00
4	Supplying, fitting and fixing approved brand P.V.C. CONNECTOR whit eflexible, with bothends coupling with heavy brass C.P. nut, 15 mm dia . (ii) 450 mm long	10	Each	82	820.00

5	Supplying,fittingandfixingapprovedbrand32mmdia.P.V.C. wastepipe,withPVCcouplingatoneendfittedwithnecessary clamps. (ii)750mmlong	15	Each	59	885.00
	Supplying,fittingandfixingClosetseatofapprovedmakewithl idandC.P.hinges,rubberbufferandbrassscrewscomplete. (a)E.W.C. (i)Plastic(hallowtype)black	4	Each	302	1,208.00
6	Supplying, fitting and fixing best quality Indian makemirror 5.5 mm thic kwiths ilvering as per I.S.I. specifications supported on fibre glass frame of any colour, frame size 550 mm X 400 mm	5	Each	613	3,065.00
8	Supplying, fitting and fixing C.I. round grating.	20	Each	62	1,240.00
9	Supplyfittingfixingshowerofapprovedbrandandmake (i)Polythene overheadshower ofapproved make 15 mmX125mm	25	Each	154	3,850.00
10	Supplying,fittingandfixing10litreP.V.C.low-downcisternconformingtol.S.specificationwithP.V.C.fittingscomplete ,C.l.bracketsincludingtwo coatsofpainting to bracketetc	4	Each	1015	4,060.00
44	Supplying, fitting and fixing Peet's valvefull way gun metal standard pattern best quality of approved brand bearing I.S.I. marking with fittings (tested to 21 kg persq.cm.).				
11	a)15 mmdia.	10	Each	521	5,210.00
	b) 50mmdia.	4	Each	2362	9,448.00
	c)40mmdia	2	Each	1646	3,292.00
12	C.I.sluicevalvewithflangedendsdrilledtoasperI.S.1358/62andhaving allcastironcomponentsasperI.S.780/71solidforged bronze insidescrewspindlehavingultimatetensilestrengthnotlessthan 4.72MTpersq.cm.Spindlenutvalveandseatfacesofhardware resisting, manufacturedfrombestqualitygunmetalconformingto I.S.780/71,paintedblackalloverwithasphaltbasepainttestedto21kg (hydraulic pressure)persq.cm.,valveopeningtoanticlockwisedirection,fitted andfixed complete. (i)9mm.	1	Each	3857	3,857.00
	Sluicevalvechamberwith C.I.heavycoverwithlockingarrangement, (weightnotlessthan 25kg) (size of chamber 450 mm X600 mmins ideupto 90 mmdepth) 250 mmthickcement brickwalls (6:1), 150 mmthickcement concrete (6:3:1) bedwithstone chips, 20 mmthickcement plaster (6:1) for inside walland 15 mmthickcement plaster (4:1) for outerwalls including rounding corners	1	Each	10459	10,459.00
13	i) 25mmdia.	5	Each	1884	0.420.00
	<u></u>	o O	Each	1004	9,420.00

14	Cuttingholethroughwall,rooforcorniceandmendinggoodalldamages .	30	Each	68	2,040.00
	Supplying, fitting and fixing 32 mm dia. Flush Pipeo fapproved makewit hnecessary fixing materials and clamps complete.	5	EAch	155	775.00
1	i)PolytheneFlushPipe				
16	SupplyofUPVCpipes(BType)&fittingsconformingtoIS-13592-1992				
16	(i) SingleSocketed3MeterLength				
	110mm	20	Mtr	292	5,840.00
	(ii) DoubleSocketed3MeterLength				
	110mm	10	Mtr	315	3,150.00
	(iii) SingleSocketed1.8MeterLength				
	110mm	6	Mtr	293	1,758.00
	(iv) DoorTee				
	(b)110mm	5	Each	195	975.00
	(v) DoubleYwithDoor				
	(b)110mm.	4	Each	345	1,380.00
	(vi) DoorY(LH)&(RH)				
	110mm.	2	Each	276	552.00
	(vii) 110x110Ptrap	6	Each	281	1,686.00
	(i) DoorBend(LH)&(RH)				
	i) 110mm	10	Each	284	2,840.00
	(ii) VentCowl				
	i) 110mm.	10	Each	33	330.00
	(iii) PipeClip				
	i) 110mm.	200	Each	21	4,200.00
	(i) DoorGasket.				
	I) 110mm	50	Rach	8	400.00
	(ii) RubberRing				
	110mm	50	Each	17	850.00

	C)RubberLubricant	2	/500	187	748.00
	D)SolventCement	2	/250	103	824.00
	Dismantlingalltypesofmasonryexceptingcementconcreteplai norreinforced,stackingserviceablematerialsatsiteandremovi ngrubbishasdirectedwithinaleadof75m.				
17					
	a)In groundfloorincludingroof.	2	Cum	447	894.00
	b) Extra rate foreach addl. Flooroverthe rate of	3	Cim	50	150.00
18	Dismantlingalltypesofplaincementconcreteworks, stackingserv iceablematerialsatsiteand removingrubbishasdirected within alead of 75 m.				
	Ingroundfloorincludingroof.				
	(a)pto150mm.Thick	2	Cum	939	1,878.00
	b)Extrarateforeachaddlfloorovertherateofgrou ndfloor.	3	Cum	50	150.00
19	Brickworkwith1stclassbricksincompositemortarwithcement,l imeandsand(1:1:6)(1cement:1limeputty/paste:6sand(a)Insup erstructure,groundfloor	0.5	Cum	5636	2,818.00
20	Supplying, fitting and fixing with cement jointing (3:1) salt glazed st oneware pipe including excavation of earthupt of 1.50 metredepth in all sorts of soil both mixed or unmixed and refilling (but excluding concreting at bottom and sides). (iii) 150 mm	10	МТ	334	3,340.00
21	Labourforpunchingholeinplasticwaterstoragetankupto50mm dia.	6	Each	19	114.00
22	Supplying, fitting and fixing bib cockorstop cock				
)(i)PolytheneBibCock/StopCock(HD)withmetalinlet(EMCO /ATLASorequivalent)	10	Each	89	890.00
23	Supplying, fitting and fixing in position reinforced cement polymer concrete manhole/gully pitcover with matching frame. Asperl.S-12592(M.D)				
	(vi)5MTloadbearing capacity round manhole cover provided with two lifter hooks fitted with matching frame of size	2	Each	2582	5,164.00
24	Supplying, fitting and fixing castiron raised rain proof tank cover 450 mm	3	Each	1014	3,042.00
25	Openingoutleakywatersupplypipeandmakingthejointswat ertight.				
	(i) Upto40mmdia.	50	Each	59	2,950.00
	(ii) 50mmdia	10	Each	69	690.00
26	SupplyofgalvanisedironsocketwithI.S.I.mark				
	i)15mmdia	15	Each	15	225.00
	(ii)20mmdia.	15	Each	22	330.00
	(iii)25mmdia.	10	Each	32	320.00
	(v)40mmdia.	3	Each	60	180.00

	(vi)50mmdia.	3	Each	92	276.00
27	SupplyofG.I.plainequalelbowofapprovedbrandandmake.				
	(i) 15mm	10	Each	16	160.00
	(ii) 20mm	10	Each	26	260.00
	(iii) 25mm	7	Each	44	308.00
	(iv) 40mm	3	Each	89	267.00
	(v)50mm	3	Each	139	417.00
28	Renewingbrassspindleandvalveofstopcock/bibcock/pushcock/pillar				
	(i)15mm	30	Each	74	2,220.00
29	Renewinghighpressurepolytheneballcockofapprovedqualitywithpolythene ball and aluminium lever complete for pipe of dia	10	Each	120	1,200.00
	0(mediumduty)conformingtoASTMD- 1785andthreadedtomatchwith GIPipes asper IS :1239(Part-I). withallnecessaryaccessories,specialsviz.socket,bend,tee,union,cross, elbo,nipple,longscrew,reducingsocket,reducingtee,shortpieceetc.fitt edwithholder batsclamps, including cuttingpipes,makingthreads,fitting,fixingetc.				
	completeinallrespectincludingcostofallnecessaryfittingsasrequired,j ointingmaterialsandtwocoatsofpaintingwithapprovedpaint				
	in anyposition aboveground. (Paymentwill bemade onthe centrelineMeasurementsoftotalpipelineincludingallspecials.Nosepar ate				
	inanypositionaboveground. (Payment will bemadeonthecentre lineMeasurementsoftotalpipelineincludingallspecials.Noseparate				
	(a)ForExposedWork				
	PVCPipes				
	(i) 15mm.	50	Mtr	101	5,050.00
	(ii) 20mm	50	Mtr	129	6,450.00
	(iii) 25mm	50	Mtr	177	8,850.00
	(iv) 40.00	30	Mtr	292	8,760.00
	(v) 50mm	30	Mtr	384	11,520.00
	(., 55	30			168,731.00
					894,126.80

(Rupees Eight lakh ninety four thousand one hundred twenty six and eighty paise only)

Tenderer to fill up the following [score out which is not applicable]

(-)	price not to be quoted here						
(a)% (in figures)	Below par (-) Rs.						
Percent							
(in words)	J						
(b)	At par						
(c)% (in figures) Percent	Above par (+) Rs.						
(in words)							
	Total Tendered Amount: Rs.						
Total tendered amount (in words							
	s, ESI/EPF subscriptions etc. as applicable excluding GST						
GST will be reimbursed by KoPT as stated in the	tender documents						
Maximum number of workmen likely to be engag	ed in days work numbers						
Permanent Income Tax A/C.No							
Time of Competition							
Date:							
	(Signature of Tenderer)						
[Total amount of tender, completion time and preliminary time as quoted / stated above are to be carried over to Form of Tender attached] Witness: -							
(Name in block letters)							
Address:							
Occupation:							

THE BOARD OF TRUSTEES FOR THE PORT OF KOLKATA

FORM OF TENDER

То

The Chief Engineer,
Shyama Prasad Mookherjee Port, Kolkata
I/We
_having examined the site of work, inspected the Drawings and read the specifications, General & Special
Conditions of Contract and Conditions of the Tender, hereby tender and undertake to execute and
complete all the works required to be performed in accordance with the Specification, Bill of Quantities,
General & Special Conditions of Contract and Drawings prepared by or on behalf of the Trustees and at
the rates & prices set out in the annexed Bill of Quantities within months / weeks from the
date of order to commence the work and in the event of our tender being accepted in full or in part. I $\!\!/$
We also undertake to enter into a Contract Agreement in the form hereto annexed with such alterations
or additions thereto which may be necessary to give effect to the acceptance of the Tender and
incorporating such Specification, Bill of Quantities, Drawing and Special & General Conditions of Contract
and I / We hereby agree that until such Contract Agreement is executed the said Specification, Bill of
Quantities, Conditions of Contract and the Tender, together with the acceptance thereof in writing by or
on behalf of the Trustees shall be the Contract.
THE TOTAL AMOUNT OF TENDER Rs. Not to mention here
(Repeat in words) Not to mention here
I / We requiredays / months preliminary time to arrange and procure the materials required by the work from the date of acceptance of tender before I We could commence the work.

I / We	have	deposited	with t	he Trustees'	Manager	(Finance),	HDC,	vide	Receipt	No.
			of _			as Earnest M	oney.			
I / We agree that the period for which the tender shall remain open for acceptance shall not be less										
than four	months									
Dated:								(Signa	ture of Bi	idder
								wi	th Seal)	
WITNESS:										
Signature :				N	ame of the	Bidder :				
Name :				A	ddress :					
(In Block										
Letters)										
A 1 1										
Address :										
Occupation										